COBR‘ ™ 23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180, Fax. 714.692.5016

www.cobrausa.com

Items Supplied > Application(s) >

1 — RELOCATION BRACKET FOR USE WITH ROCKER OR SOFTAIL
2-BOLT, HEX 5/16” X 5/8" SPEEDSTER SWEPT EXHAUST SYSTEM

Instruction Manual > A 606-6220 / 606-6235 q
. RELOCATION FOOTPEG

1. Using the stock footpeg hardware mount the stock footpeg on 8L . BRACKET

the supplied relocation bracket. Make sure spring washer is A
i . = ] e T {
placed in-between the footpeg and the bracket to keep tension. G ‘T‘ _

2. Use the (2) supplied 5/16 bolts to mount the relocation bracket || £ { * o ,, ;‘ig%ﬁs
to the exhaust mount bracket that was supplied with your Cobra = e o @
exhaust system. See Figure 1. ExHAUST T ep@ W

MOUNT

02109 A Anything's Possible ..

BR‘TM 23801 E. La Palma Ave.. Yorba Lin

2837 Ph. 714.692.8130. Fax. 714692501

www.cobrausa.com

1 — RELOCATION BRACKET FOR USE WITH ROCKER OR SOFTAIL
2-BOLT, HEX 5/16" X 5/8" SPEEDSTER SWEPT EXHAUST SYSTEM

Inctriictinn Mannal > ‘\ 006-6220 / 606-6235
. RELOCATION FOOTBEG
1. Using the stock footpeg hardware mount the stock footpeg on 8L . BRACKET /
the supplied relocation bracket. Make sure spring washer is ] e
placed in-between the footpeg and the bracket to keep tension. Y ‘f—" 5
[ | Y . ;
2. Use the (2) supplied 5/16 bolts to mount the relocation bracket I * oA ! S/liGPPLCIﬁS
to the exhaust mount bracket that was supplied with your Cobra e M F‘,,{sf" @
exhaust system. See Figure 1. EXHAL.Jé}T LI “ e ,_:ﬁ“

* Cobra recommends you always wear a helmet while riding. Please never operate your motorcycle while under
the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.

DOCUMENT NO. 0019REV. A

02/09 Anything's Possible ..



